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• BLT_arrays (publish BLT via DIP) crashing less than 
2 hours of running with error:
terminate called after throwing an instance of 
'std::bad_alloc'
what():  St9bad_alloc

• Investigating the error pointed to an inability to 
allocating memory for the arrays.

BLT_arrays: crash
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• BLT done without DIP:
+24h running without crashing (I forced the job to stop);

• BLT done with DIP but only time stamp being published:
+24h running without crashing (I forced the job to stop);

• Ditto + histograms hits_per_orbit (array size 16384): 
Crashed after 10h running!

• Ditto + hits_in_orbit histograms (array size 115200): 
Crashes in less than 2 hours!

• Problem on DIP side!

• Is there something accumulating in the memory?

BLT_arrays: crash debugging

3

Monday, 2 November 2009



• Dip publishing

DipData *HistoData = dip->createDipData();

...

HistoData -> insert(TimeStamp, "time");

HistoData -> insert(Dminzhitsperorbit, 
BLTMAX, "MinZHitsperOrbit");

...

• Crash occurs at

pub[0] -> send(*HistoData, time);

BLT_arrays: crash debugging
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• Solution:
...
pub[0] -> send(*HistoData, time);
delete HistoData;
return 0;

• BLT_arrays, with ALL histograms being published, 
running without crash for more than 5 
hours! :-)

BLT_arrays: crash debugging
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• BLT_arrays uses > 30% of the CPU!
Not related with DIP!

• CPU usage of ~35% is due to sleep(1).
Otherwise it is ~100%.

•

BLT_arrays: CPU usage
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• The high CPU usage due to saving histograms, 
otherwise ≲1% CPU used.

• Would another way of saving the histograms reduce 
the CPU usage? ROOT?

BLT_arrays: CPU usage
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• Saving histograms in ROOT file: CPU usage ~3%!

BLT_arrays: CPU usage
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BLT_arrays: ROOT tree
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• Saving histograms in text files also consumes more 
disk space than a single root file containing a tree.

• Root file uses ≲10% of disk space than txt files.

BLT_arrays: DISK usage
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• Crash of BLT_arrays solved. But I am still checking for 
other possible flaws.

• BLT_arrays CPU usage is quite large (>30%) due to 
saving histograms in text files. CPU usage saving a 
ROOT tree ~3%.

• ROOT file size < 10% of the text files size.

• Modifications still in private directory.
To be implemented soon in “official” directory.

• To do: Still need to further investigate client side of DIP.

Summary
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